2.2.C.Checkpoint

1. Select three equations that the tape diagram represents.

A. ?7+29=46
B. 46 +29=7

46 -7=29

o N

?7-46=29

E. 46-29=7

2. There are 73 students in the gym. There are 26 students on the
playground. How many fewer students are on the playground than in
the gym? Show your thinking using drawings, numbers, or words.
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3. There are 23 kids and 14 adults in the swimming pool. Then 15 more
kids come to join them. How many people are in the swimming pool
now? Show your thinking using drawings, numbers, or words.
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